| Efficiency vs Dxy |

.05
X : : :
© . : :
O e
> : : :

D04
KSR S
@035__ .......
‘© F : ;
003:_ -------
0.0252—----5,-.....; .......
002— .......
0.0152—---@-......; .......

J(0J| S ST S
0.005 - +wi-ooveviveneeci-

...................................................
.................................................

o+

Rat
=
!

0.95

S E50-15-1

| Efficiency vs Dz |

0 =570 5 10 15 20 25
TP dxy (cm)

—=— DQNM_mKFit_TTorngmal
—e— DQM_mkFit_TTNEWnoMS-genMatch-CUT2
—— DQM_mkFit_TToriginal-106

nND.05
S

oY -] SR
3 s s
POAp g
&) : :
E035_ """"" Femneeeeees
o :
0.03 -----------
0.025fF —
0.02F - A—
0.015F s -

O]

0.01Fieeeee -

—.— DQM_mkFit_TTNEWMS-genMatch-CUT2

...........................................

e
M

| s
Le—u—"

0
5

Ratio

1

1

0.5

530 20 <10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


